129-037( A-034-1) (1/1)

cm
10|20
10(20|30
S — 0 10 20 30 40 50 60
E : TN E
E (VAVAVAVAY] =
= AN —
E (VAVAVAVAY] =
= AN =
A\YAVAVAVAY 1.8 1.8
NN i / -
1.45 1.30\/ \/ VAV 30 30| 1.9
-4 NNV 1.45 i
[VAVAVAVAY] =
AN =
\VAVAVAVAVi 7 7
IARAYAVAWAY 2.15 / / =
VAV 20 ol A =
v =
VAVAYAYAY] 2.45 3
N g
IAVAVAVAWAY 3.15 3}9 3}9 -
A\YAVAVAVAV -
IARAYAVAWAY 30 30 | 3.9 3
VAV 3.45 3
v =
o , 4 4
\YAVAVAVAY, 150 / =
AN 30 0| 4 =
A\YAVAVAVAV .45 3
IARAYAVAWAY —
VAV =
v 5.15(3.6 3.6 —
RN 4 / e
KRAHR st e
\VAVAVAVAY] 6.20
IARAYAVAWAY —
(VAVAVAVAY] 6.15 3)4 3}4 =
v —_— =
(VAVAVAVAY] 30 30 | 3.4 E
AN 6.45 =
6.80 5.35\/ \/\/\/\/ E
7.15| 7 7 =
/ / =
30 0| 1 =
7.45 =
8.15| 9 9 —
/ / =
30 0| 9 =
8.45 =
9.15[13.1 13.1
=7 /
30 30 [13.1)
9.45
10.20 3.4 10.15 1/5 1/5 =
10.40 020~ 30 30| 14 =
e 10.45 —
10.85 0.45~rer \ =
00O~ 167 167
0+-0~ 0 1LL.151 75 7 =
520%¢ 30 30 | 167 E
YOS5 11.45 =
11.90 1.0800- O E
Q5059 12.15| 65 65 =
OQOQO 34) 34) 65
e RtoX -
0 0% 0 12.45 —
c0-0- 3
C.)C')QC}Q 13.15| 75 75 -
O O- 0O 3/ / A
E R tel 0 30| 74 =
= 07070 13.45 3
= 0O =
E 07070 3
14 00~ 14.15| 72 72 -
= O0.0-0 / / : =
= <00 30 30| 72 =
E 0-0-0 1445 =
= JoY0 =
= O -0~ 0 =
E 1515.19 329" 9 9" 15.15) 79 79 =
E 30 30| 79 — =
E 15.45 =




